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M.A. (Previous) Examination, 2016

ECONOMICS
Paper—III
(Quantitative Methods)

Time : Three Hours
Maximum Marks @ 100

PART-A [Marks : 20]
(@vs-A)
Answer all questions (50 words each).
All questions carry equal marks.

gt gy sifyard ¥ v&@® 999 F1 IW 50 I 9
Aferr 7 8 et v ® o OHH §

PART-B [Marks : 50]
(@ue-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.
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PART-C [Marks : 30]
(@vs-9)
Answer any two questions (300 words each).
All questions carry equal marks.
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PART-A
(@Ue-37)

Answer all questions.

aft we it F 3 <fsa

M

(i)

(v)

v)

UNIT-I

FEE-1)

What are the objectives of Linear Programming ?
W S B = Sivg 82
What does Differential Calculus show ?

TeH-%ed fR9 9@ &) qofa @2

UNIT-II

FFE-10)
What do you mean by Integration ?
ToEET Q@ 9 T guHEy ¥

What is Cramer's rule ?

s frm == 22

UNIT-III
(FEE-110)

Differentiate between Correlation and Regression

analyses.

gegEy 3R yfamme favdwem ® ofm #fsw
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(vi)

(vii)

(viii)

(ix)

(x)

What will be the value of Correlation Coefficient

when two regression lines intersect each other at

right angle ?

I9 RN FREEE Wl - ® g9 9w s
A e ONF FT W FA EFN?

UNIT-IV

(FFE-IV)

What is Bayes’ theorem ?

U9 I 22

Which distribution is used to analyse rare events ?

fa@ weTsnt = favavn & fau shH-m 5=
vgF fea wmr @22

UNIT-V

(FFE-V)

What do you mean by Stratified Sampling ?

wWia wfdeel @ omw = wmem
What do you mean by Hypothesis Testing ?

Iferea T ThET ¥ a9 w= oummy 20
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PART-B
(@Us-9)

UNIT-I

FEE-D

2. Differentiate the following :
e @1 SFho i

(1) y = ik
l l+x
1—-x°
(1 yY=—7—"-
1) x3+2x

Gi)) y=(2+3)2x7+ 7.

3. Solve the following LPP problem :

Maximize Z = 6x + 4y
48
4x + 2y < 60

subject to 2x + 4y

IA

3
x>0, vy=0.
5 LPP =1 T@ ST :

afureray Fifeiw, Z = 6x + 4y
EIGERS 2x + 4y < 48
4x + 2y < 60

3x < 36

x 0,y 0.

H
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UNIT-11

(FFE-1D)

4. Find the inverse of the following matrix :

1 =2 3
A=|3 -1 4
% ] —B

5. Integrate the following :
3 w1 EFed I

1) ' (Se" = +i\dx
: J %,
. . 1
(i) (e' +—3\dx.
d ey
3-
(i) (4x—x"—=3)dx.

UNIT-11I

(FFTE-111)

6. Calculate Karl Pearson's Correlation coefficient :
Fl g &1 989« OH [qd HINT

x 158 43 41 39 43 46 43 45 41 47 45 44
y 11 27 31 42 30 28 28 20 19 20 32 30
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7.  From the following data obtain two regression equations :

f= silwsi @ @ wdvme wher W@ R .

¥ I 65 66 67 67 68 69 71 73
yo i 67 68 64 68 72 70 69 70
UNIT-IV
FFE-1V)

8. Write a short note on Binomial distribution.

fgR 97 W s ofyw feooh fafem

9.  What do you mean by the following :
1) Simple and Compound events.
(1)  Mutually Exclusive events.
(iii) Dependent and Independent events.

1 @ oy =m e © .
) W& T R wed
(i) 9REIREF IYES  Heand)
(i) of¥a wa wWaA weAW|

UNIT-V

EFFE-V)

10. Distinguish between Type-I and Type-II errors. Can these
two errors be reduced together ?

9 @ fada TR w faydl A s e = @
A B TH WU fEm oW gEa D
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11.

12.

13.

What are the objects of Sampling ? What problems are
faced in sampling method ?

el & Syg = ¥ faselA womelt o fe goemed
=1 g e S @2

PART-C
(@gvs-u)

UNIT-I

@FETE-1)

Find the profit maximising output and maximum profit if
p = (10 - x)*> and AC = 55 — 8x.

o Bl AfuwaH FA I IWRT a9 fusman o
a Hifsig, afx =+ p = (10 — x)? IR g @
AC =55 - 8x

UNIT-1I

(FFTE-II)

With the help of Cramer's rule solve the following equations :
A gt w=t wR fm g ww wife
X+y+z=1
xX+2y+3z2=6
x + 3y + 4z = 6.
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UNIT-II1

(FRTE-11D)
14. If the following data are given :
p=dly & =12 Tdxdy = 42075
y=48; o, =16 N = 450

then find two regression equations.

99 T FATEA W] J9|9 sife)

UNIT-1V

EHE-1V)

15. Write a critical note on Normal distribution.

gaEryg fagrom @ ue seEarEs femoit fafew

UNIT-V

(FFE-V)

16. Six boys are selected at random from a school and their
marks in Maths are found to be 63, 63, 64, 66, 60, 68.
In the light of these marks, discuss that mean marks in
Maths were 66. ¢ = 2.571.

TH Thd @ 6 S &1 994 fF T s e o of%
63, 63, 64, 66, 60, 68 Tl T 3Hgl & MR W faa=m
Hifore fF nford & wravRl 1 sfwa 66 B2 = 2.571.
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